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NEW QUESTION 1
- (Topic 1)

Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.

B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.

D. Marketing and development incorporates SCOR Level | metrics for new product design.

Answer: B

NEW QUESTION 2
- (Topic 1)

Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.

B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.

D. Marketing and development incorporates SCOR Level | metrics for new product design.

Answer: B

NEW QUESTION 3
- (Topic 1)
Which of the following situations is an example of postponement?

A. Shipments are broken down into small groups for reshipment.
B. Shipments are consolidated immediately for reshipment.

C. Production begins after a customer order is received.

D. Partially assembled goods are assembled at a later stage.

Answer: D

NEW QUESTION 4
- (Topic 1)

Which of the following consequences is a result of shipping directly from the point of manufacture to the customer rather than through a distribution network?

A. Delivery lead times are consistent.
B. Risk pooling benefits are negated.
C. Distribution overhead is increased.
D. Order-fill rate is decreased.

Answer: B

NEW QUESTION 5
- (Topic 1)

Reverse supply chain activity typically peaks nearest the beginning of which of the following stages of the product life cycle?

A. Introduction
B. Growth
C. Maturity
D. Decline

Answer: D

NEW QUESTION 6
- (Topic 1)
Which of the following organizational design choices is an example of vertical integration?

A. Contracting with a third-party logistics provider
B. Producing components used internally

C. Externally staffing a customer service center
D. Awarding a one-time trade show contract

Answer: B

NEW QUESTION 7
- (Topic 1)
The use of a seasonal index as a forecasting technique measures the ratio of the:

A. average seasonal demand to the average demand for all periods.
B. average demand for all periods to the average seasonal demand.
C. average seasonal demand to the standard deviation of the demand for all periods.

D. standard deviation of the seasonal demand to the standard deviation of demand for all periods.
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Answer: A

NEW QUESTION 8

- (Topic 1)

A manufacturer of plastic components that are sold either directly or through distributors wants to identify the requirements of the end customers for each market
segment. Which of the following approaches would be most appropriate?

A. Analyzing the buying history for each of the market segments

B. Asking the manufacturer's direct customers

C. Conducting a market research project

D. Sending samples of potential future products to the final customers

Answer: C

NEW QUESTION 9
- (Topic 1)
Which of the following outcomes is a benefit typically expected of customer relationship management (CRM)?

A. Reducing the size of the sales force by automating activities
B. Gaining a better understanding of customer requirements
C. Implementing automated inter-organizational processes

D. Focusing sales efforts on the most profitable customers

Answer: B

NEW QUESTION 10
- (Topic 1)
A manufacturer can simplify the forecasting process by pooling demand forecasts for a product group and then:

A. averaging total demand and spreading it evenly across all items.

B. disaggregating demand to the item level based on marketing input.

C. disaggregating demand to the item level based on historical proportions.
D. allocating demand to each production site.

Answer: C

NEW QUESTION 10

- (Topic 1)

A large wholesaler formerly owned a number of delivery trucks. The wholesaler sold all of its trucks and now purchases transportation services from fleet
operators. This is an example of which of the following strategies?

A. Selling and leasing back equipment.
B. Renting equipment on consignment.
C. Using a third-party logistics provider.
D. Using an owner-operator fleet.

Answer: C

NEW QUESTION 14
- (Topic 1)
Which of the following practices has improved management of the customer pipeline?

A. Reverse auctions

B. Sales force automation

C. Finite capacity planning
D. Point-of-purchase metrics

Answer: :B

NEW QUESTION 16

- (Topic 1)

A company plans to maximize profitability by charging more for its products at retail locations than on its website. Which of the following segmentation strategies
would best support this plan?

A. Group

B. Channel
C. Regional
D. Location

Answer: :B

NEW QUESTION 19
- (Topic 1)
Using an independent service provider for logistics would be most appropriate in which of the following situations?
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A. A shoe company that wants to penetrate a foreign market

B. A business that owns plants and warehouses globally

C. A financial services company that wants to expand its services
D. A cable television company that wants to add services

Answer: A

NEW QUESTION 23
- (Topic 1)
Which of the following actions typically would be considered part of a reverse logistics strategy?

A. Offering a discount on new purchases when used products are returned

B. Reducing the amount of packaging material used in shipping

C. Manufacturing products in batches consistent with full-truckload shipments
D. Batching returns of defective components to the suppliers

Answer: A

NEW QUESTION 25

- (Topic 1)

After identifying the potential causes for delays in communicating demand information up the supply chain, the trading partners should take which of the following
actions?

A. Implement a higher-speed data communications network.

B. Change procedures so data is communicated more frequently.
C. Identify the root causes for the delays.

D. Map and analyze the value stream.

Answer: C

NEW QUESTION 27
- (Topic 1)
The purpose of continuous improvement in the supply chain is to:

A. eliminate the root causes of problems.

B. improve interorganizational communication.
C. develop better written procedures.

D. reduce product costs.

Answer: A

NEW QUESTION 28

- (Topic 1)

A firm has identified groups of customers based on specific characteristics the customers desire from products and services the firm can provide. Characteristics
include lead times, pricing tiers, and service levels. The firm is engaged in which of the following activities?

A. Customer differentiation
B. Order winner segregation
C. Market segmentation

D. Channel definition

Answer: C

NEW QUESTION 29

- (Topic 1)

A company manufactures special products for select customers. When demand for these products drops, the manufacturer can switch the production line to a
commodity-type product that can be sold on the open market at reduced terms to generate cash. The company is executing a corporate strategy that is based on:

A. customer focus and alignment.
B. forecast accuracy.

C. multiple downstream channels.
D. multiple upstream supply chains.

Answer: D

NEW QUESTION 34

- (Topic 1)

A company's annual cost of goods sold is $350 million, and inventory carrying cost is 18%. The company averages four inventory turns. The cost savings resulting
from increasing inventory turns from four to six would be:

A. $29,000,000.
B. $15,750,000.
C. $10,500,000.
D. $ 5,250,000.

Answer: D
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NEW QUESTION 38
- (Topic 1)
Medium-term demand management projections are used primarily to:

A. complete strategic business planning of facilities.
B. complete forecasts at the item level.

C. aggregate demand for production planning.

D. develop the master production schedule.

Answer: C

NEW QUESTION 41
- (Topic 1)
Which of the following forecasting methods relies on the opinions of a panel of experts?

A. Delphi technique

B. Survey method

C. Causal method

D. Time series analysis

Answer: A

NEW QUESTION 44
- (Topic 1)
Which of the following customer relationship management activities most appropriately is used for revenue generation?

A. Generating customer leads

B. Generating graphic sales models
C. Measuring customer preferences
D. Identifying customer margins

Answer: A

NEW QUESTION 49
- (Topic 1)
When designing a supply chain for strategic advantage, a company first should consider:

A. the impact on customers using Just-in-Time manufacturing.
B. the financial stability of suppliers.

C. matching the supply chain to product type.

D. whether to use custom or standard parts.

Answer: C

NEW QUESTION 50
- (Topic 1)
Maintaining a long-term collaborative relationship with a trading partner requires:

A. formal and informal communication.

B. interconnected information systems.

C. one partner regularly exercising power.
D. standardized terms of agreement.

Answer: A

NEW QUESTION 54
- (Topic 1)
Which of the following situations is an example of inventory being held as a way to balance supply and demand?

A. A manufacturer holds inventory of key components to maintain a level production schedule.
B. A manufacturer of seasonal products builds finished-goods inventory before the peak

C. selling period.

D. A distributor maintains safety stock of slow-moving items at a central distribution center.

E. A retailer stocks a variety of sizes and colors of a fast-selling item to avoid losing sales.

Answer: B

NEW QUESTION 58

- (Topic 1)

Risk pooling enables a lower total inventory level without affecting service levels based on which of the following assumptions?
A. Inventory turnover ratio can be reduced.

B. Aggregate demand is more accurate than disaggregate demand.

C. The planning time fence can be adjusted as needed.

D. The supplier shares some risk for holding inventory.

Answer:
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B

NEW QUESTION 60
- (Topic 1)
Compared to mass-media marketing, customer relationship management has the advantage of allowing the organization to:

A. compete for customers based on service.

B. reach a larger number of potential customers.
C. reduce inventory to improve cash flow.

D. focus on attracting new customers.

Answer: A

NEW QUESTION 64

- (Topic 1)

A firm supplies a single line of products to consumers using retail stores and on-line sales, distributors, and wholesalers. Currently the firm has common pricing
and response times for sales in each sales channel. Which of the following tools is most appropriate to employ to improve profitability?

A. Customer segmentation

B. Customer-facing ordering systems

C. Customer relationship management (CRM)

D. Supply Chain Operations Reference (SCOR®)

Answer: A

NEW QUESTION 66
- (Topic 2)
Which of the following strategies would increase overall supply chain risk?

A. Single sourcing a product that makes the highest annual profit

B. Outsourcing a product that is not well suited to your operations

C. Identify multiple sources for a product that has a potential for supply chain disruption

D. Internally manufacturing a product that has a high level of technical intellectual property

Answer: A

NEW QUESTION 71
- (Topic 2)
What are the steps in the supplier relationship process?

A. Measure, fulfill, document, model
B. Source, document, manage

C. Measure, procure, fulfill, model
D. Source, procure, fulfill, manage

Answer: D

NEW QUESTION 74
- (Topic 2)
Managing supply chain risks includes which of the following activities?

A. Developing alternatives to key suppliers

B. Setting aside funds for disruption-recovery efforts

C. Charging each supply chain partner a portion of risk cost

D. Creating extra inventory to cover disruptions in the supply chain

Answer: A

NEW QUESTION 77
- (Topic 2)
Which of the following warehousing tools enables wireless scanning of products?

A. Magnetic stripes

B. Universal product codes
C. Radio frequency devices
D. Local area network

Answer: C

NEW QUESTION 78

- (Topic 2)

Allowing for organizational restructuring is an example of which of the following steps in creating successful strategic alliances among suppliers?
A. Managing multifaceted relationships

B. Negotiating a win-win deal
C. Planning for change
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D. Conducting pulse checks

Answer: C

NEW QUESTION 80
- (Topic 2)
Which of the following strategies can be used to help manage global risks?

A. Direct shipment

B. Cross-docking

C. Mass customization
D. Flexibility

Answer: D

NEW QUESTION 85
- (Topic 2)
Which of the following statements about the use of bar code labels for product identification in the supply chain is true?

A. They have been replaced by radio frequency identification tags.

B. They can be read by devices 1 to 3 meters from the item.

C. They facilitate the capture of information about the location of items.
D. Each of the trading partners must apply a unique label.

Answer: C

NEW QUESTION 88
- (Topic 2)
The most appropriate reason for a business to comply with the United Nations (UN) Global Compact practices typically would be to:

A. enhance the competitive advantage.

B. gain access to proven management tools.

C. reduce the threat of organized labor.

D. reduce the cost of operating in multiple countries.

Answer: A

NEW QUESTION 89
- (Topic 2)
It is most appropriate to measure spending per customer as a proportion of profitability during which of the following phases of a supplier/customer relationship?

A. Customer acquisition

B. Customer retention

C. Customer dependency
D. Strategic customer care

Answer: B

NEW QUESTION 92
- (Topic 2)
A product design that can be produced to requirements even when conditions in the production process are unfavorable typically is known as what type of design?

A. Universal

B. Computer-aided
C. Modular

D. Robust

Answer: D

NEW QUESTION 97

- (Topic 2)

The customer who provides point-of-sale data remains the sole decision-maker regarding order quantities when what type of inventory strategy is used?
A. Continuous replenishment

B. Advanced continuous replenishment
C. Vendor-managed replenishment

D. Quick response

Answer: D

NEW QUESTION 100

- (Topic 2)

When doing international business, a company's total line-haul costs will vary with the:

A. weight shipped.
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B. distance shipped.
C. pallets shipped.
D. volume shipped.

Answer: B

NEW QUESTION 102
- (Topic 2)
When an importer and manufacturer are operating in a free trade zone, payment of a customs duty is triggered when products are:

A. returned.
B. assembled.
C. stored.

D. distributed.

Answer: D

NEW QUESTION 103
- (Topic 2)
A firm has discovered a product quality issue. What should be the first step in responding to this issue?

A. Determine the root cause of the quality issue.

B. Separate the non-conforming products.

C. Trace the location of the faulty product in the supply chain.

D. Replace faulty products when they are returned by the end user.

Answer: C

NEW QUESTION 105
- (Topic 2)
Inventory parameters established using analytic inventory techniques typically are based on balancing:

A. supply and dependent demand.

B. customer service and inventory costs.

C. transportation and warehousing costs.

D. inventory levels and decision-making costs.

Answer: B

NEW QUESTION 106
- (Topic 2)
Which of the following measures effectively evaluates overall resources in a distribution warehouse?

A. Throughput

B. Cube utilization

C. Filled pallet positions
D. Labor efficiency

Answer: A

NEW QUESTION 110
- (Topic 2)
Customizing can be an effective warehousing strategy because it allows a company to:

A. allocate available storage space to optimize handling costs.

B. address trade-offs between space and material handling needs.

C. effectively design its inbound and outbound dock areas.

D. add value to the product through modification, labeling, and packaging.

Answer: D

NEW QUESTION 114
- (Topic 2)
The process used to determine the impact of promotions, price discounts, and rebates on demand forecasts commonly is referred to as demand:

A. planning.

B. forecasting.
C. aggregating.
D. shaping.

Answer: D

NEW QUESTION 119
- (Topic 2)
The globalization of a supply chain typically increases uncertainty and:
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A. production lead time.

B. local competition.

C. documentation complexity.
D. product standardization.

Answer: C

NEW QUESTION 120
- (Topic 2)

Which of the following distribution approaches for a low-volume, high-variety product line typically will result in the highest level of customer service and the lowest

total distribution costs?

A. Direct shipment from plant to customers

B. Shipment from a central distribution warehouse

C. Shipment through a multi-echelon distribution network
D. Outsourcing the distribution function

Answer: A

NEW QUESTION 121
- (Topic 2)

The best way to manage a business relationship is to measure performance to:

A. cost of ownership metrics.
B. quality targets.

C. on-time delivery.

D. agreed-upon metrics.

Answer: D

NEW QUESTION 123
- (Topic 2)

A company originally based in Germany sets up companies in India, China, Vietnam, Mexico, and Brazil. It sources most of the raw materials locally and employs
the local workforce to manage and produce finished goods. Most of the goods produced are consumed in the same country. The company can be classified as

what type of enterprise?

A. Globally integrated
B. Domestic

C. Multinational

D. Virtual

Answer: C

NEW QUESTION 127
- (Topic 2)

A firm is undertaking a revision of its financial metrics to make them more comprehensive and has decided to use metrics such as return on investment (ROI),

return on assets (ROA), and economic value added (EVA). This is an example of utilizing which of the following types of metrics?

A. Activity based

B. Stakeholder focused
C. Financial sustainability
D. Value chain

Answer: C

NEW QUESTION 128
- (Topic 3)

The recovery element of a reverse logistics supply chain strategy is best illustrated by:

A. the use of refillable containers by a water supply company.

B. the use of rechargeable batteries by an individual.
C. a grower selling fresh-produce scrap to other farmers.
D. the reduction of energy consumption by a manufacturer.

Answer: A

NEW QUESTION 130
- (Topic 3)

Electronic data interchange reduces costs primarily through:

A. standardization of trading document formats.
B. adaptability across hardware platforms.

C. simplified software development.

D. replacement of proprietary systems.

Answer: A
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NEW QUESTION 131

- (Topic 3)

Which of the following actions best exemplifies an appropriate demand management
strategy?

A. Reducing costs in the procurement of goods

B. Prioritizing demand when supply is constrained

C. Maximizing sales orders from customers

D. Updating the sales and operations planning (S&OP) to changes in production capacity

Answer: B

NEW QUESTION 132
- (Topic 3)
The most significant reason for altering supply chain management practices in an organization would be a change in its:

A. executive management.
B. corporate strategy.

C. profitability of operations.
D. financial position.

Answer: B

NEW QUESTION 136

- (Topic 3)

A supplier disputes a low rating generated by a company's enterprise resources planning (ERP) system. Which of the following actions by the purchasing agent is
most appropriate?

A. Advise the ERP information technology manager that there is a flaw in the rating system.

B. Scrap the vendor rating system until the company can figure out what is wrong.

C. Compare the vendor and company detail records, and interview company employees who handled the data.
D. Tell the supplier that, regardless of the disputed claims, the supplier must improve performance.

Answer: C

NEW QUESTION 138
- (Topic 3)
Which of the following statements best identifies the value of using a supplier rating system?

A. It provides an objective means for a company to determine outstanding suppliers.

B. It allows customers to post chargebacks to suppliers.

C. It offers a company an effective way to control suppliers' delivery processes.

D. It ensures that all suppliers are using the same quality standards to manufacture products.

Answer: A

NEW QUESTION 142

- (Topic 3)

Customer demand is 120 units per week. The company works on a 9-hour shift per day, 5- day per week basis. Each shift has a ¥2-hour lunch break and two
15-minute coffee breaks. The cycle time is 12 minutes. To meet demand, production must occur at the rate of one unit every:

A. 12 minutes.
B. 20 minutes.
C. 22.5 minutes.
D. 28 minutes.

Answer: B

NEW QUESTION 146
- (Topic 3)
On-time delivery performance in the supply chain can best be improved by aligning required capacity with what type of capacity?

A. Demonstrated
B. Rated

C. Budgeted

D. Theoretical

Answer: A

NEW QUESTION 148

- (Topic 3)

A company understates current revenue forecasts and delays the delivery of orders to meet the forecast. The most likely result of this practice is that shipments
will peak:

A. at the beginning of reporting periods.

B. randomly throughout reporting periods.
C. at both the beginning and end of reporting periods.
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D. at the end of reporting periods.

Answer: A

NEW QUESTION 152
- (Topic 3)
Implementation of supplier relationship management is most successful when a company emphasizes which of the following two factors?

A. Cost reduction and product design

B. Quality and partnerships

C. Technology and productivity

D. Capital investments and global expansion

Answer: B

NEW QUESTION 153
- (Topic 3)
Functional products require which of the following types of supply chain process?

A. Restrictive
B. Innovative
C. Efficient

D. Integrated

Answer: :C

NEW QUESTION 155

- (Topic 3)

A firm has determined its cash-to-cash cycle time to be 60 days. The number of days' payables outstanding is 25, and number of days' sales outstanding is 35. If
the firm reduces its inventory by 20%, the new cash-to-cash cycle time, in days, will be approximately:

Answer: B

NEW QUESTION 157
- (Topic 3)
What benefit does Radio Frequency Identification (RFID) technology provide for a high- volume, low-cost manufacturer?

A. Reduces store thefts

B. Eliminates the effects of bullwhip

C. Eliminates stock out at store level

D. Reduces number of touch points in pallet handling

Answer: D

NEW QUESTION 161
- (Topic 3)
A company operates under a make-to-order policy, and its supplier operates under a make- to-stock policy. Which of the following risks poses the greatest threat?

A. Inventory risk for the company

B. Inventory risk for the supplier

C. Debt leverage risk for the company
D. Debt leverage risk for the supplier

Answer: B

NEW QUESTION 165
- (Topic 3)
Which of the following factors is the most important driver of supply chain change?

A. Health and safety concerns

B. Competitor actions

C. Government regulations

D. Customer perceptions of value

Answer: D

NEW QUESTION 166
- (Topic 3)
A supply chain visibility application helps an organization by:
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A. planning raw material requirements.

B. removing outliers from independent demand forecasts.

C. providing flexibility in customer delivery locations.

D. providing comprehensive information from any point of contact.

Answer: D

NEW QUESTION 169
- (Topic 3)
Use of consistent performance measures among trading partners is a best practice to:

A. share data among information systems faster.

B. manage collaboration and continuous improvement.
C. reduce the time to introduce new products.

D. increase the flexibility to collaborate with customers.

Answer: B

NEW QUESTION 172
- (Topic 3)
Supplier certification procedures verify that a supplier:

A. is ISO certified.
B. implements, documents, and improves procedures related to customer requirements.
C. tracks manufacturing processes, including bills of material and routings to support the processes.

D. manufactures products to the specifications shown on engineering documents and bills of material.

Answer: B

NEW QUESTION 177
- (Topic 3)

When establishing third-party and fourth-party logistics relationships, a firm should avoid providers who:

A. use a proprietary information system.

B. constantly update their information technology and equipment.
C. provide extensive reporting on each customer interaction.

D. meet customer requirements through regional warehousing.

Answer: A

NEW QUESTION 178
- (Topic 3)

A company recently faced an increase in backorders. The company’s marketing department recently ran a sales promotion. The purchasing and planning
departments were not aware of the promotional activity. Which of the following processes will help to solve this type of problem in the future?

A. Sales and operations planning (S&OP)

B. Advanced planning and scheduling (APS)
C. Supplier relationship management (SRM)
D. Customer relationship management (CRM)

Answer: A

NEW QUESTION 181
- (Topic 3)
Prioritizing customer needs is best accomplished by:

A. sharing information with key customers.

B. installing a new enterprise resources planning system.

C. responding to customer requests in the order they are received.

D. establishing policies and procedures for honoring customer requests.

Answer: D

NEW QUESTION 184
- (Topic 3)

The purchasing manager of a company wants to minimize stock-outs as well as obsolete inventory. Which of the following tools needs to be implemented?

A. Blanket purchase order

B. Advanced planning and scheduling (APS)
C. Buy-back contracts

D. Business-to-business integration software

Answer: C

NEW QUESTION 189
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- (Topic 3)
Which of the following actions by trading partners would be most appropriate to protect against variability in supply and demand?

A. Improve product quality.

B. Increase inventory levels.

C. Increase information sharing.
D. Reduce product complexity.

Answer: :C

NEW QUESTION 194
- (Topic 3)
A firm may use which of the following technologies to track the flow of inventory across its entire supply chain?

A. Distribution requirements planning
B. Radio frequency identification

C. Transportation management system
D. Warehouse management system

Answer: B

NEW QUESTION 197
- (Topic 3)
A company handling sale of product discarded by consumers is what type of provider?

A. Third party logistics (3PL)
B. Reverse logistics

C. Fourth party logistics (4PL)
D. Warehousing

Answer: B

NEW QUESTION 199
- (Topic 3)
Short order cycles to facilitate rapid replenishment will result in:

A. minimal in-process inventory.

B. fewer inventory moves.

C. improved communications to customers.
D. increased supplier collaboration.

Answer: A

NEW QUESTION 203
- (Topic 3)
A distribution requirements planning system is implemented primarily to monitor or manage:

A. supplier capacity.

B. customer demand.

C. inventory replenishment.
D. demand variation.

Answer: C

NEW QUESTION 204
- (Topic 3)
Which of the following types of lead times is related most closely to a supplier performance measure?

A. Fulfillment

B. Replenishment
C. Overall

D. Process

Answer: B

NEW QUESTION 208

- (Topic 3)

Which of the following approaches most likely will help a company reduce its cost of sales while increasing customer loyalty?
A. Business process design

B. Business development mapping

C. Customer relationship management

D. Sales contact management

Answer: C
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NEW QUESTION 210
- (Topic 3)
A company that is having difficulties prioritizing resources against a long list of improvement projects should use which of the following processes?

A. Control chart

B. Competitive benchmarking
C. Pareto analysis

D. Six Sigma

Answer: C

NEW QUESTION 214

- (Topic 3)

A company is aggressively pursuing improvements in the financial performance of its supply chain. The company should first focus its efforts on which of the
following metrics?

A. Process takt time

B. Cycle count accuracy

C. Number of inventory turns
D. Number of first-tier suppliers

Answer: C

NEW QUESTION 216

- (Topic 3)

A large retailer has negotiated buyback contracts with several suppliers. The suppliers typically will need which of the following systems to effectively implement
the contracts?

A. Point-of-sale tracking

B. Well-developed reverse logistics

C. Monitoring the retailer's revenue

D. Sales incentives to reward the retailer

Answer: B

NEW QUESTION 220

- (Topic 3)

In an assemble-to-order manufacturing environment, the master production schedule is
typically the schedule of:

A. resources.

B. customer orders.

C. components and subassemblies.
D. the final assembly.

Answer: C

NEW QUESTION 225
- (Topic 3)
Purchased component standardization generates savings primarily by reducing:

A. assembly costs through economies of scale.

B. engineering costs due to lower testing requirements.

C. inventory control costs due to smaller shelf space requirements.
D. inventory transportation costs by using economical modes.

Answer: A

NEW QUESTION 230
- (Topic 3)
A master production schedule serves a company best by functioning as a:

A. dispatch list.

B. forecast system buffer.

C. priority planning tool.

D. supplier scheduling system.

Answer: C

NEW QUESTION 232
- (Topic 3)
Which of the following types of raw materials would be most appropriate to source via an Internet-based trading exchange?

A. Expensive material that is critical to the finished good

B. Expensive material for which there are several substitutes
C. Inexpensive material that is critical to the finished good

D. Inexpensive material for which there are many sources
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Answer: :D

NEW QUESTION 235

- (Topic 3)

A retailer wants to partner with its suppliers to implement automatic replenishment of inventories and joint sales forecasts. Which of the following supply chain
management technologies most likely would support the retailer's strategy?

A. Advanced planning and scheduling

B. Collaborative planning, forecasting, and replenishment
C. Supplier relationship management applications

D. Radio frequency identification (RFID) tags

Answer: B

NEW QUESTION 240
- (Topic 3)
Effective sales and operation planning (S&OP) is most likely to result in which of the following benefits?

A. Better customer service

B. Better product quality

C. Lower product cost

D. Lower work-in-process (WIP) inventory

Answer: A

NEW QUESTION 243
- (Topic 3)
Which of the following supply chain strategies should be chosen if the lead-time for a product is long and the demand is not predictable?

A. Inventory positioning

B. Pull replenishment

C. Continuous replenishment
D. Push system

Answer: A

NEW QUESTION 247
- (Topic 3)
A company may reduce its amount of safety stock by:

A. substituting information for inventory.
B. increasing the number of retailers.
C. increasing the number of producers.
D. changing to a push system.

Answer: A

NEW QUESTION 252
- (Topic 3)
Before discontinuing a product based on activity-based cost calculations, one should primarily consider the effects upon:

A. activity-based cost calculations of other products.

B. value stream mapping of complementary products.

C. research and development (R&D) costs of new products.
D. overhead absorption rates across product lines.

Answer: A

NEW QUESTION 253
- (Topic 3)
A company has limited visibility of global customer sales. Which of the following methods is the most appropriate way to sense and respond to customer demand?

A. Point of sale

B. Sales and operations planning

C. Demand-driven supply network

D. Customer relationship management

Answer: C

NEW QUESTION 258

- (Topic 3)

In determining warehouse velocity, the average inventory level is calculated by dividing the

annual sales through the warehouse by the:

A. total square footage of the warehouse.
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B. inventory turnover rates for the warehouse.
C. annual weight through the warehouse.
D. annual cube through the warehouse.

Answer: B

NEW QUESTION 259
- (Topic 3)
Which of the following tradeoffs should be considered when selecting logistics options?

A. Safety stock levels and customer service levels

B. Inventory levels and scheduling operations

C. Transportation cost and speed of delivery

D. Centralized and decentralized distribution network

Answer: C

NEW QUESTION 263
- (Topic 3)
Which of the following actions is most likely to improve the cash-to-cash cycle time?

A. Find suppliers with lower total cost of ownership (TCO)

B. Implement vendor-managed inventory (VMI) with key suppliers

C. Implement vendor-managed inventory (VMI) with key customers

D. Establish targeted promotions for the most profitable market segments

Answer: B

NEW QUESTION 264
- (Topic 3)
The most common method for coping with demand variability in the manufacture of products with a lengthy cycle time is to have:

A. higher raw material inventory.
B. higher finished-goods inventory.
C. lower finished-goods inventory.
D. lower raw material inventory.

Answer: B

NEW QUESTION 266
- (Topic 3)
Which of the following activities occurs as part of the sales and operations planning process?

A. Time fences are matched to master production schedule horizons.

B. The next quarter's forecasts are presented by sales staff to finance and operations personnel at the final meeting.
C. Strategic plans are adjusted based on changing operating situations.

D. Plans are converted to financial projections and capacity requirements.

Answer: D

NEW QUESTION 268
- (Topic 3)
Which of the following outcomes is an expected benefit of effectively implementing supply chain event management software?

A. Inventory data are captured in real time.

B. Files are transferred from one corporation to another.

C. Notifications of variances from plans are triggered.

D. Communication protocols between companies are standardized.

Answer: :C

NEW QUESTION 272

- (Topic 3)

A manufacturer's inventory levels are growing and service levels are dropping. Which of the following supply chain strategies is most appropriate to reduce
inventory and improve service?

A. Increase the safety stockon all items.
B. Reduce the setup time.

C. Optimize the total cost.

D. Implement batch operations.
Answer: B

NEW QUESTION 275
- (Topic 3)
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A manufacturer is the sole supplier of a product family. It sells to regional distributors that sell to retailers. The manufacturer uses batch production processes that
have long setup times. All nodes in the supply chain have agreed to pursue a quick response to changes in the level of demand as a competitive priority. Which of

the following factors is most likely to hinder their pursuit of this competitive priority?

A. Information technology standards
B. Information sharing practices

C. Contractual terms and conditions
D. Manufacturing lot sizes

Answer: D

NEW QUESTION 280
- (Topic 3)

A firm experiences a supply chain interruption from a second-tier supplier. Which of the following actions is the firm likely to take to minimize future interruptions?

A. Require the supplier to submit weekly cycle count reports.

B. Require the supplier to implement a sales and operations planning process.

C. Map the supplier's supply chain to identify risks and opportunities.
D. Conduct an 1ISO 14001 audit of the supplier.

Answer: C

NEW QUESTION 282
- (Topic 3)

A typical advantage of a production outsourcing strategy for a company focusing on agility as a competitive priority is that:

A. monitoring costs are decreased.

B. production lead time is increased.

C. product quality is increased.

D. product introduction time is decreased.

Answer: D

NEW QUESTION 287
- (Topic 3)
Which of the following activities is forbidden in a foreign trade zone?

A. Remarking or repackaging imports to avoid fines

B. Breaking up large shipments to reduce import duties
C. Reexporting goods without paying duties

D. Conducting retail trade

Answer: D

NEW QUESTION 290
- (Topic 3)

Which of the following supplier performance factors typically is most critical for organizations that outsource production?

A. Speed

B. Reliability

C. Flexibility

D. Malfunction recovery

Answer: B

NEW QUESTION 291
- (Topic 3)

A company develops annual forecasts for key products and enters into annual contracts with key suppliers based on the forecasts. Which of the following benefits

would the company most likely receive from this approach?

A. Shorter delivery lead times
B. Lower prices

C. Improved service

D. Higher-quality products

Answer: B

NEW QUESTION 294

- (Topic 3)

Value stream mapping is a useful tool primarily because it:
A. redefines supply chain relationships.

B. is completed in 1 or 2 days.

C. is used to improve efficiency in a specific area.

D. looks at the entire supply chain rather than an isolated process.

Answer: D
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NEW QUESTION 299
- (Topic 3)
A company discovers that several high-volume customers have very erratic ordering patterns. Which of the following actions is most likely to reduce variability?

A. Checking the demand status multiple times daily

B. Establishing Internet-enabled collaborative relationships

C. Implementing electronic data interchange transactions

D. Increasing safety-stock levels for items these customers order

Answer: B

NEW QUESTION 300
- (Topic 3)
A company produces to stock and sells its products to distributors. The factor that most likely will contribute to the risk of loss in inventory investment is the:

A. accuracy of demand forecasts.
B. replenishment lead time.

C. level of product quality.

D. variability in supply.

Answer: A

NEW QUESTION 304
- (Topic 3)
Which of the following types of strategies minimizes inventory throughout the supply chain to avoid obsolescence?

A. Delayed differentiation
B. Low costs

C. Location

D. Response

Answer: A

NEW QUESTION 307

- (Topic 3)

A supplier has decided to improve its forecast accuracy by reducing the information lead time from the retailer. Which of the following actions would be most
appropriate to achieve the desired result?

A. Eliminating sales and promotions
B. Decentralizing demand information
C. Reducing its quoted lead time

D. Utilizing electronic data interchange

Answer: D

NEW QUESTION 312
- (Topic 3)
Which of the following factors is most important to consider when deciding on offshore outsourcing of manufacturing to a supplier?

A. Size of the supplier organization
B. Total cost of ownership

C. Supplier performance history

D. Supplier certification

Answer: B

NEW QUESTION 314
- (Topic 3)
Effective sales and operations planning (S&OP) can contribute most to which of the following objectives?

A. Increasing product quality

B. Increasing the number of new customers
C. Reducing unexpected customer requests
D. Reducing excess inventory

Answer: D

NEW QUESTION 319
- (Topic 3)
Which of the following issues recently has caused companies to rethink implementation or continued use of a Just-in-Time system?

A. The upward trend in inventory carrying costs
B. The reduced number of potential suppliers
C. The elimination of billing documents

D. Higher transportation costs
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Answer: D

NEW QUESTION 320
- (Topic 3)
Which of the following techniques allows users to automate the notification of appropriate parties when exceptions to specific business rules occur?

A. Enterprise resources planning

B. Supply chain event management

C. Advanced planning and scheduling

D. Automatic identification and data capture

Answer: B

NEW QUESTION 324

- (Topic 3)

An information technology system that couples enterprise resources planning and an advanced planning system would be most appropriate for which of the
following types of business operations?

A. Multiple plants in multiple industries

B. Multiple plants in the same supply chain

C. Multiple supply chains of different products
D. Multiple supply chains of the same product

Answer: B

NEW QUESTION 328
- (Topic 3)
Which of the following actions by a group of trading partners is most likely to improve the flow of funds among them?

A. Increasing the level of information sharing and collaboration
B. Negotiating a single set of terms for the trading partners

C. Reducing the time allowed for the timely payment discount
D. Implementing links among their information systems

Answer: A

NEW QUESTION 332

- (Topic 3)

A manufacturer with operations in an area prone to natural disasters is reviewing its sustainability strategy. Which of the following production strategies should the
company implement to reduce the risk of supply interruptions?

A. Centralized

B. Decentralized

C. Make-to-order

D. Engineer-to-order

Answer: B

NEW QUESTION 334

- (Topic 3)

One operation in a four-stage process has been producing more than required and is causing elevated levels of work in process. Which of the following
approaches would be most appropriate to address the situation?

A. Kano

B. Kanban
C. Kaizen
D. Keiretsu

Answer: B

NEW QUESTION 339

- (Topic 3)

A company is beginning the process of defining market segments for its products and services. The most appropriate objective for this undertaking would be to
identify groups of customers with similar:

A. geographical locations.
B. buying power.

C. revenue potential.

D. service requirements.

Answer: D

NEW QUESTION 340
- (Topic 3)
What are the three principle categories of forecasting methods?
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A. Seasonal, trend, and promotional events

B. Moving average, exponential smoothing, and Holt-Winters
C. Qualitative, extrinsic, and intrinsic

D. Annual, monthly, and daily requirements

Answer: C

NEW QUESTION 343
- (Topic 3)
A firm decides to move from a mass production to a mass customization model. This will result in a change in focus from:

A. special to general purpose facilities.
B. lower to higher operational cost.

C. efficiency to effectiveness measures.
D. high to low flexibility workforce.

Answer: :A

NEW QUESTION 346
- (Topic 3)
Which of the following characteristics typically is a feature of supplier relationship management?

A. Supplier employees are located at the firm's facilities.

B. Inventory is verified before the supplier ships the goods.

C. Performance of both firms is measured and reported regularly.
D. The supplier is the sole source for the goods.

Answer: C

NEW QUESTION 349
- (Topic 3)
The relative speed at which all transactions within the supply chain process occur is known as:

A. the cycle time.
B. velocity.

C. latency.

D. throughput.

Answer: B

NEW QUESTION 354
- (Topic 3)

A manufacturer of consumer goods has purchased one of its distributors. The distributor's inventory system is archaic and will not integrate into the manufacturer's
enterprise resources planning (ERP) system. Which of the following approaches is the most appropriate long-term solution for the manufacturer?

A. Buy a complete ERP system that includes seamlessly integrated distribution.
B. Buy a warehouse management system that integrates into the ERP system.
C. Run the existing warehouse inventory system and update the ERP system manually.
D. Hire a software contractor to write an interface with batch update to the ERP system.

Answer: B

NEW QUESTION 359
- (Topic 3)
Which of the following metrics is the most appropriate measure of supply chain responsiveness?

A. Order fulfillment lead times

B. Percentage of orders delivered on time
C. Retail inventory days of supply

D. Upside production flexibility

Answer: D

NEW QUESTION 361

- (Topic 3)

During the sales and operations planning (S&OP) horizon, planned inventory can best be used to:
A. implement a time-phased stock replenishment plan.

B. allow for consistent production lot sizing.

C. buffer the company against unknown fluctuations in demand.

D. minimize storage and transportation costs.

Answer: C

NEW QUESTION 365
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- (Topic 3)
A company exports products to emerging markets. Which of the following approaches would be used to enhance compliance, minimize risks, and connect supply
chain activities?

A. Logistics network planning

B. Distribution requirements planning
C. Supply chain event management
D. Global trade management

Answer: D

NEW QUESTION 369
- (Topic 3)
Which of the following strategies is most appropriate for managing unknown risks in a global supply chain?

A. Vertical integration

B. Technology integration with suppliers
C. Investing in redundancy

D. Strengthening supplier relationships

Answer: C

NEW QUESTION 374
- (Topic 3)
The ABC classification system answers which two of the following inventory-related questions?

A. How much inventory should be ordered at one time, and when will the order be placed?

B. What is the importance of the inventory item, and how will the inventory items be controlled?

C. How much inventory should be ordered at one time, and what is the importance of the inventory item?
D. When will the order be placed, and how will the inventory items be controlled?

Answer: B

NEW QUESTION 378
- (Topic 3)
Some firms that have licensed other companies to manufacture their products run the risk of:

A. losing market share.

B. the other companies becoming competitors.
C. the products becoming a commodity.

D. the products being overpriced.

Answer: B

NEW QUESTION 383
- (Topic 3)
Outsourcing is most appropriate when a product is:

A. modular and independent of knowledge and capacity.
B. modular and dependent on knowledge and capacity.
C. integral and independent of knowledge and capacity.
D. integral and dependent on knowledge and capacity.

Answer: A

NEW QUESTION 384
- (Topic 3)
Which of the following processes is included in reverse logistics?

A. Designing a new product out of recycled material

B. Restoring a worn-out product to like-new condition

C. Reducing the amount of packaging material in a product
D. Eliminating toxic materials in a product

Answer: :B

NEW QUESTION 386

- (Topic 3)

Designing a supply chain to maximize responsiveness and flexibility is most appropriate for which of the following types of organizations?
A. Public utility provider

B. Configurable products manufacturer

C. Commodity goods supplier

D. Luxury goods manufacturer

Answer: B

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version CSCP Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/CSCP-dumps.html (510 Q&AS)

NEW QUESTION 390
- (Topic 3)
A firm expands distribution of its products into additional countries. Some customers initiate order batching, which could lead to which of the following outcomes?

A. Bullwhip effect

B. Price fluctuations
C. Rationing

D. Better forecasting

Answer: A

NEW QUESTION 394
- (Topic 3)
An advanced planning system differs primarily from enterprise resources planning by:

A. optimizing operations scheduling.

B. translating plans into action.

C. concentrating on production.

D. linking to the transportation management system.

Answer: A

NEW QUESTION 397
- (Topic 3)
Which of the following benefits should a supplier expect to receive by becoming a certified supplier?

A. Reduction in redundant processes with buyer

B. Increase in price of items sold

C. Increase in access to competitive information

D. Reduction in number of items utilizing vendor-managed inventory

Answer: A

NEW QUESTION 398
- (Topic 3)
Which of the following continuous improvement methodologies focuses on reduction of defects by reducing process variation?

A. Just-in-Time (JIT)

B. Kaizen

C. Six Sigma

D. Theory of constraints

Answer: C

NEW QUESTION 403
- (Topic 3)
Which of the following steps is first in developing a product differentiation strategy?

A. Study customer needs

B. Define customer segments

C. Determine design modifications
D. Establish competitive priorities

Answer: A

NEW QUESTION 405

- (Topic 3)

A large bicycle company has outsourced manufacturing and needs to respond immediately to any logistics problems in the supply chain. The best technological
solution to meet this need is:

A. enterprise resources planning.

B. supply chain event management.

C. supplier relationship management.

D. a transportation management system.

Answer: B

NEW QUESTION 407

- (Topic 3)

Which of the following strategies typically will require the lowest inventory investment and deliver the shortest lead time?
A. Producing finished goods to forecast and shipping directly to customers

B. Producing finished goods to forecast and distributing through a multi-echelon network

C. Producing subassemblies to forecast and doing final assembly and shipping from the factory

D. Producing subassemblies to forecast and doing final assembly and shipping from regional centers

Answer:
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D

NEW QUESTION 411

- (Topic 3)

A manufacturing company with limited competence in logistics plans to expand into an international market. The most appropriate initial action the company should
take is to:

A. buy a distribution company.

B. build a distribution network.

C. engage a third-party logistics company.
D. gain logistics experience.

Answer: C

NEW QUESTION 412
- (Topic 3)
Continuous process improvement is characterized by which two of the following key steps?

A. Quality circles and benchmarking
B. Process review and supplier audits
C. Analysis and assessment

D. Observation and selection

Answer: C

NEW QUESTION 417

- (Topic 3)

A distributor has a network consisting of a central distribution center serving five regional distribution centers that ships to multiple retailers. The distributor wants to
reduce inventory while maintaining product availability. Which of the following actions is most likely to produce the desired outcome?

A. Centralizing inventory for slow-moving items

B. Reducing the quoted price for slow-moving items

C. Implementing cross-docking at the central distribution center
D. Implementing continuous replenishment at the regional centers

Answer: A

NEW QUESTION 418
- (Topic 3)
When evaluating several possible supply chain options, a firm considering the minimal total cost should:

A. ensure that the inventory levels are as low as possible to minimize holding costs while still providing adequate customer service.
B. account for the combined costs of holding buffer inventory and incurring inventory shortages.

C. consider the costs of acquiring, holding, and transporting inventory, and of servicing customers.

D. place buffer inventory in the lowest cost locations that meet lead time and service level requirements from customers.

Answer: C

NEW QUESTION 423

- (Topic 3)

Compared to the traditional enterprise resources planning (ERP) system, an electronic business system (EBS) is preferred for today's e-business solution because
EBS:

A. is more flexible and functional.

B. is the backbone of outsourcing services.

C. has converged with Web-based applications to form a grouping of business software functions.
D. encompasses e-procurement as a traditional purchasing function.

Answer: C

NEW QUESTION 425

- (Topic 3)

A manufacturer experiences frequent changes in product technology and market preferences, resulting in new product introductions each year. Which of the
following sourcing strategies would be most appropriate?

A. Sole sourcing

B. Multiple sourcing

C. Long-term contracting
D. Strategic partnering

Answer: D

NEW QUESTION 428
- (Topic 3)
The use of kanban for item replenishment by external suppliers requires:

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version CSCP Questions & Answers shared by Certleader
e — https://www.certleader.com/CSCP-dumps.html (510 Q&AS)

Leader of IT Certifications

A. accurate long-term forecasts.

B. returnable plastic containers.

C. close communication about component usage.
D. a process for the reverse supply chain.

Answer: C

NEW QUESTION 431
- (Topic 3)
Value stream mapping provides the most benefit when:

A. analyzing customer requirements.

B. identifying nonvalue-added activities.

C. planning kaizen events.

D. implementing an information technology strategy.

Answer: B

NEW QUESTION 434
- (Topic 3)

Horizontal and vertical exchanges of secure data among supply chain partners are facilitated best by:

A. the intranet.
B. a portal.

C. a Web site.
D. e-mail.

Answer: B

NEW QUESTION 437
- (Topic 3)

Which of the following activities is the most appropriate use of an advanced planning and scheduling system?

A. Selecting the target market for a product
B. Optimizing transportation routes

C. Creating a daily demand forecast

D. ldentifying constraints within a facility

Answer: D

NEW QUESTION 442
- (Topic 3)

Which of the following circumstances best describes a roadblock to implementing customer relationship management and supplier relationship management?

A. Concern about conflicts of interest with partners in the supply chain
B. Lack of defined industry standards

C. Deterioration of customer service levels

D. Increased access to information for supply chain partners

Answer: A
NEW QUESTION 443

- (Topic 3)
The logistics value proposition involves matching:

A. identification of appropriate sourcing partners with service reliability metrics.

B. activity-based costing practices with supply chain financial strategy.
C. cost minimization practices with balanced scoreboard performance.
D. operating competency and commitment with key customer requirements.

Answer: D

NEW QUESTION 445
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